



Name: _____

Date: _____ Score: _____

$$(5 + 1) \times 10 - 9 =$$

$$10 - 10(8 - 3) =$$

$$5 + 4(8 - 1) =$$

$$(8 - 10) \times 5 + 9 =$$

$$(2 + 9) \times 9 + 4 =$$

$$60(2 + 9) \div 6 =$$

$$2 + 10(9 + 8) =$$

$$(9 \div 3 - 11) \times 6 =$$

$$9 - 11(5 - 7) =$$

$$8 - 5(5 + 7) =$$



Name: _____

Date: _____ Score: _____

$$(5 + 1) \times 10 - 9 = 51$$

$$10 - 10(8 - 3) = (-40)$$

$$5 + 4(8 - 1) = 33$$

$$(8 - 10) \times 5 + 9 = (-1)$$

$$(2 + 9) \times 9 + 4 = 103$$

$$60(2 + 9) \div 6 = 110$$

$$2 + 10(9 + 8) = 172$$

$$(9 \div 3 - 11) \times 6 = (-48)$$

$$9 - 11(5 - 7) = 31$$

$$8 - 5(5 + 7) = (-52)$$